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The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.

1. Answer the following questions : (any seven)
1x7=7

owE wEET Tel &9 ¢ (Frerar renr)

(i) Write an example of a solution of liquid
in gas.

(IIRY TRAS ©Te TR 73 BT Tz & |

(i) What is reduced phase rule ?

AW 2T e &2
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(i) What is equivalent conductivity ? (i) W ‘
e v & 1 t S following proteins
SIS RIS Y rans ;
el 1SSH ansports oxygen in our bOdV >
SR (0] o7 ﬂ%ﬁ@ﬁmw S

(iv) Express a Daniell cell.

(SR (R G012 T4 | (a)  Keratin
(b) Nucleoprotein

(c/ Haemoglobin

(d} Insulin

(v) Arrange the following in order of
increasing acidity :

wEwl 4fEd IS AT 8
CICH, COOH, CLICHCOOH, CLOCOCET . P
l 2 L 3 (ix) Glycine when heated alone i
| (vi) Aniline reacts with bromine water to give e e - i
2fm o{iIR T @i BT sk =
\ - (@) methylamine
(a) o-nitroaniline )
2_' .
(b) m-nitroaniline : amirio €thanol
s etoni :
(c) p-nitroaniline (c) diketopiperazine
(d) 2,4-dinitroaniline (d) zwetterion
(vii) Which of the following,; diazonium salts (x) Carbohydrates are characterised by th
is most stable ? presence of e
wFE (RIRCE! (o) Wi e ©=E il FITSR TR A v
FLs QM S 2 : ig
(a) Benzene diazonium fluoroborate
(b) Benzene diazonium chloride (@) OH group
s
. (c) Aliphatic diazonium salt (b) >C =0 group
| (d) None of the above (c) Asymmetric carbon
(d) All of the above
2 Q o
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(vi) Explain, aniline is a weaker base than
5 Answer the following questions : (any four) EhE e

2%x4=8
Qe 22 IS (5 TG R | AL |

(vii) How are amino acids related to protein ?

i) Distinguish between ideal solution and ! )

() S gll ' L‘}i'\ ﬁ%’ﬁﬁﬁm‘ &%l 7% 9IS
non-ideal solution.

sl T e S TR #A1eE o

me%mz (Rizizal sIfao!)

[0 ?

(viti) Justify the formation of osazone from
glucose and fructose.

(ii) State and explain phase rule.
5 W% P0G 24 WYGT 519 Y@ A1

| el wIfece! @i eaRT | =21 |
(iii) The conductivity of 0.2M solution of KCI
at 298K is 0.0248 S cm!. Calculate its 8.

i Answer the folIdwing questions : (any three)
molar conductivity.

, o%X3=15
l 298K Trewre KCl, 0.2M @3 <O #f<I2el o wTaiE Tas G 2 (R o))
| [} G
| 0.0248 S cm~L 77w 2R (IFR ~RES] e ,
| =4 | ; (i) (a) Whatis CST?
| :
(iv) Distinguish between reversible cell and CST =its &2
irreversible cell. ) Etaks s explBE L aIbs Law
SRS (I T SASNE] (IR S F TC=5< 205! {571 i< 1=y 3541 |
(v) Explain, why carboxylic acids have l Define st role | alout
higher boiling point than corresponding azeotropic mixture.
alcohols.

oo T lem fwwg Suissain o |
RS QPR O TSR (AT (T 1+049=5
T Tonee RS | IR 5
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@ (a)
(b)
(@)  (a)

Define phase, components and
degree of freedom.

SRTZ, Boiieel IS FEF WAl W F I
1|

Find the number of components
and number of phases in the
following equilibria and evaluate
the degree of freedom :

g [fEahm om e weAn, Seio
HLT S FOF il WefE o ¢
Ny (g)+0;5(g) = 2NO(g)

3+2=5

The resistance of a 0.1 M solution
of an electrolyte is 600 at 300K. The
dimensions of each electrode in the
cell are 0.85cm x 1.4em and the
distance between them is 1cm.
Calculate the following — cell
constant, conductivity and molar
conductivity of the solution.

300K ¢ 0.1 M fefarss wa b (@i
60Q. FF= faqie wE veimz Sl
0.85¢em = 1.4cm 9% FEga @i 1 om.
92 BAGR (FIE 9%, Y|z o
(AR ARz f6m < |
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(iv)

(v)

(b)

(@)

(b)

(@)

(b)

Condu'ctivity decreases but molar
conductivity of strong electrolytes
increases on dilution. Explain.

FerS, ©F s b sfeaizel =

foe crer ~ifeaifest a | @ @
3+2=5

How can you determine pH using

hydrogen electrode ?

FZW LS AW AR T4 pH [ef7

(AL a2

What types of information may get
by electrochemical series ?

faie a1 eI o=l (@ 41609
T AR Al e
3+2=5

Write Perkin’s reaction with
example.

TWzareiTd e AAafes &A@

Write the products of the following
reaction :

fafra oo vy = 0

OH e
q +CHLCOCCOCH, —225%
NO

2

3+2=35
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(vi) (a)

(b)

(vit) (a)

(b)

(viti) (a)

Arrange the following in decreasing
order of basicity :

R 44 ZPTIN @S S ¢
N,N-dimethyl aniline, aniline,
ammonia, ethylamine, p-nitroaniline

Write with an example of
Sandmeyer reaction.

TWIRATETR G0 (wiaraas R B
2+3=5

What kind of bonding is responsible
for tertiary-structure of protein ?

SRbAIRT 2T 1ove & osR a5 7o
CZ AH?

Write briefly on general properties
of proteins.

2ifber Alare @fEPTE B |
2+3=5

Write the main classes of
carbohydrates with example.
CHIZALET (10T I 22059 T2 =T
G
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(b)

Classify the following into reducing
and non-reducing sugars :

ToTe WA (@194 [Toies e SRR w41
hitsl (2} eie &= ¢

Fructose, maltose, lactose, sucrose,

starch, glucose, cellulose.
3+2=5

4. Answer the following questions : (any three)

10x3=30

o4 el OeR 519l ¢ (R ey

(1)

(@)

(b)

Explain liquid composition curve
and vapour composition curve from
lever rule.

(FTSIA I SRAR 461 I (772 % (915
TE (7Y TH0E L7 =4 |

Staite  ane Nernst

distribution law. Write the

explain

conditions for applicability of the
law.

Aifeq forea fafa il wiie izl = | @2
fafem eirzisig vz foen |
5+5=10
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(i)  (a) Write short note on - (iv) (a) Write shortly :
Clausius-Clapeyron equation o0 foral ¢
Or
: Standard hvdrogen electrode and
Phase diagram of one component - d .
system redox titration.
IO =14t ¢ (b) Derive Nernst equation for
Fibae- @ o T measuring EMF of the cell.
i | <bt e (@ EMF fefa i wiwea
G T T o dikzifba e
‘ (b) Describe phase diagram of water ;
system. (c) Write the half cell reactions for
i’ Water system 9 «li5%| foq wiifs =y 9= | electrochemical cell involving the
| 9+5=10 following cell reaction :
lllu (iii) (a) DeI'rive th;: condllictivit_:; aélinﬁnitg e ol fsre e e e
dilution by applying Kohlrausec o - RS
law. e (TGS ST e e e
| FHITHI TS @iaEs =i myore Hy(g)- Cu”" = Cufs)- 20"
sffe=ifEe fdy = .
A (d) Write the applications of electrolysis
(b) Write short note on - in industrial purpose.
S el ¢ YT
Tl (s fagye frsRieR arisE T
Transport nux?lbe_r an‘d £ By
conductometric titration
545210 4+2+2+2=10
O =
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) (a)
e
- & o -
(b)
(c)
(v) (a)

Identify A, Band Cin the following
reaction :

o RIFEE #[ A, B 9% C Bl
&4 2

Ca (OH), . N
a(OH), A-_Heat (g NHy-NHy | C

Prepare the following :
TeTS MAAE e 9 3

Acetophenone from acetic acid and
ethyl acetate from ethyl alcohol

Explain, why acetyl chloride gives
nucleophilic substitution reactions
more easily than ethyl chloride.

<fbbize & 91300, TeizF & A2TT (F HIZGO
SN el weafve == =iz, et ==
3+4+3=10

What happens when aniline is
treated with benzoyl chloride and
NaOH ?

afe= #9rS (@Ese 93T 9 oA
5w Hizvws i iz ey
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(b)

(c)

(d)

(vi) (a)

(b)

Complete the reaction :
T [AERICh] 375 54 ¢

?

Write the Himsberg test for
distinguish 1° amine, 2° amine and
3% amine.

1° GE[Ze], 2° GaIiEe S 3° G i<
JElate fegiele siqr

Give the mechanism of coupling of
diazonium salt with phenol.

TS W 5139 W= (FasE PR
fafemzra femmiffy fova |

2244 2510
Synthesize the following :
GES [FRICARE ARG T4 ¢
Ethyl chloride to aniline and acetic

acid to glycine

What do vou mean by zwitterionic
property of an amino acid ?

3l e

3 (Sem-4/CBCS) CHE HG/RC/G 13 Contd.



(c)

| ’ (d)

{1 (viti) (a)

()

Justify the structural relationship
of amino acids, peptides and
proteins.
AT 5w, (o952 e 2iffers 13 Foka
e fra |
Write the principle that can be

applied for the separation of a
mixture of amino acid.

e Gfowa fm G5 o2 wlware
ATl (21 TIFSCH! By |
4+2+2+2=10

Convert the following : -
OIS RIAR Hoirsiae 71 ¢

Fructose into glucose and
glucose into fructose

Explain the following :
IO 47 2

Glucose does not react with
NaHSO3.

AT NaHSO, 3 #1957 ffgm 7 |
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D-glucose and L-glucose give the
same dicarboxylic acid on
oxidation.

S99 AT D-glucose 1% L-glucose @
AT 4399 S afor 2w w3 |

Sucrose does not show

mutarotation.

B (% USRS (F (7R |
446=10
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